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typedef struct phils {

int id;

struct fork *right_fork;

struct fork *left_fork;

struct phils *right;

struct phils *left;

code (*next) (struct phils *,struct task *);
} Phils, *PhilsPtr;

typedef struct fork {
int id;
struct phils *owner;
} Fork, *ForkPtr;
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typedef struct task {
struct task *next;
struct phils *phils;
} Task, *TaskPtr;
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code thinking(PhilsPtr self, TaskPtr current_task)
{

printf("%d: thinking\n", self->id);

self->next = hungryl;

goto scheduler(self, current_task);
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code hungryl(PhilsPtr self, TaskPtr current_task)
{
printf("%d: hungryl\n", self->id);
self->next = pickup_lfork;
goto scheduler(self, current_task);
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code pickup_lfork(PhilsPtr self,
TaskPtr current_task)
{
if (self->left_fork->owner == NULL) {
printf("/d: pickup_lfork:%d\n",
self->id, self->left_fork->id);
self->left_fork->owner = self;
self->next = pickup_rfork;
goto scheduler(self, current_task);
} else {
self->next = hungryl;
goto scheduler(self, current_task);
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code pickup_rfork(PhilsPtr self,
TaskPtr current_task)
{
if (self->right_fork->owner == NULL) {
printf("/d: pickup_rfork:%d\n",
self->id, self->right_fork->id);
self->right_fork->owner = self;
self->next = eating;
goto scheduler(self, current_task);
} else {
self->next = hungry2;
goto scheduler(self, current_task);

goooooooooooooooooobooooooo
0id000000idO00000000000000O0OO0
00 pickupaxfork 0000000000000 0OODOOO
000000000 hungry20000000

000000000000000000 (hungry2)
code segment

printf("%d: eating\n", self->id);
self->next = putdown_rfork;
goto scheduler(self, current_task);
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code putdown_rfork(PhilsPtr self,
TaskPtr current_task)

{
printf("%d: putdown_rfork:%d\n",
self->id, self->right_fork->id);
self->right_fork->owner = NULL;
self->next = putdown_lfork;
goto scheduler(self, current_task);
}
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code putdown_lfork(PhilsPtr self,
TaskPtr current_task)

{
printf("%d: putdown_lfork:%d\n",
self->id, self->left_fork->id);
self->left_fork->owner = NULL;
self->next = thinking;
goto scheduler(self, current_task);
}
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code hungry2(PhilsPtr self, TaskPtr current_task) []gcheduler code segment Dining Philosophers

{
printf ("%d: hungry2\n", self->id);
self->next = pickup_rfork;
goto scheduler(self, current_task);

JgooodoooooDoooDidoOoooobooooo
00 pickuprfork 0000000

000 (eating) code segment

code eating(PhilsPtr self, TaskPtr current_task)
{
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code scheduler(PhilsPtr phils, TaskPtr list)
{

goto get_next_task(list);
}
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code get_next_task_fifo(TaskPtr list)

{ Cso) Ceo)
if (max_step--<0) {
goto die("Simuration end.");
}
list = list->next;
goto list->phils->next(list->phils,list);
}
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code get_next_task_random(TaskPtr list)

{
if (max_step-—<0) { 040000000000
goto die("Simuration end.");
}
list = get_task(
(random()%1list_length(list)+1),list); goooboooooooooobobooooooooo
goto list->phils->next(list->phils,list); 050000
}
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